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H2EUHIFI XA 20| = AISIO| A ArAHiY

71REAI A S B 7] Fo] 20% ®]Tho] 7§
@ AA F9AF : 10,000, F 71¥AAE HH 1,000
= A=10,000, B=1,000, =2 (A-B)=9,000
mw B/A = 10% < 20% => [1]4] 2 &
mw D = 200% - 2.75 x (20% - 10%) = 172.5%
w AHZ = Dx(A-B) = 15525m’

@ AA F9HA : 10,000m, F 7IHEAIAL W3 1,500
= A=10,000, B=1,500, t#% 4 (A-B)=8500
mw B/A = 15% < 20% => [1]2] &
mw D = 200% — 275 x (20% - 15%) = 186.25%
w AHA = Dx(A-B) = 15831

71NN DGR 7| FEo] 256%% T

O AA F994 :10,000nr,
T 719N HA D 2500m (% FEAIES 200m EFH)
= A=10,000, B=2,500, C=200, =¥ % (A-B)=7,500
w B/A = 25% > 20% => #H[2] A&
w (B-C)/A = 23% > 20% => [2]4] A&
w D = 200% x [ 1 + 1.5x200/(10,000-200) 1 = 206.12%
w AHA = Dx(A-B) = 15459m’

@ AA F94E4 :10,000m,

Z 719N HE : 2500m (F FEFA

—_—

AE 500m' 2£3¥)

= A=10,000, B=2,500, C=500, tH#¥%(A-B)=7,500

w B/A = 25% > 20% => 2] A&

wm (B-C)/A = 20% = 20% => [3]4] A&

w D= 200% x [ 1 + 1.5%(2,500-10,000%20%)/(10,000-500) ] = 215.79%
w AHA = Dx(A-B) = 16,184m’

My

- 13 - (+ 2)



QA RIFEAH &+ X3

@ AA F994 :10,000n,
T 7IAE " 2500m (F FEAIAEAT 2,600m E39)
= A=10,000, B=2,500, C=2,500, th#]H%(A-B)=7,500
w B/A = 25% > 20% => 2] A&
m (B-C)/A = 0% < 20% => [3]4] A&
w D = 200% x [ 1 + 1.5x(2,500-10,000%20%)/(10,000-2,500) ] = 220.00%
w AHA = Dx(A-B) = 16500m’

ZIRIA AR Y| Fo] 30%% A5
@ AA F49HEH : 10,000n,
ZF 7|HAIAE WA 3000m (FFAIAEA T s AS)
= A=10,000, B=3,000, C=0, =2 (A-B)=7,000
w B/A = 30% > 20% => #H2] A&
w (B-C)/A = 30% > 20% => [2]4] #&
wm D = 200% x [ 1 + 1.5%0/(10,000-0) 1 = 200.00%
m AHZA = Dx(A-B) = 14,000m

@ HA F4993 10,000,
Z 7I¥kAAd HA 3000’ (F TEFAATS 1,000m EFH)
= A=10,000, B=3,000, C=1,000, =¥ % (A-B)=7,000
w B/A = 30% > 20% => 2] ﬂ%
w (B-C)/A = 20% = 20% => [3]4] *
wm D = 200% x [ 1 + 1.5x(3,000-10,000%20%6)/(10,000-1,000) ]
= 233.33% > 230% (&-&HE 230% &)
m A% = Dx(A-B) = 16,100m’

® AA F+9=94 : 10,000m’,

T 7IHkAAd | 3,000m (T FEAAEE 3,000m E9)
= A=10,000, B=3,000, C=3,000, ™= = (A-B)=7,000

m B/A = 30% > 20% => 2] A&

m (B-C)/A = 0% < 20% => [3]4] A&

w D = 200% x [ 1 + 1.5x(3,000-10,000%20%)/(10,000-3,000) ]

(5 2) - 14 -



QAN RIFE R H &~ AE

= 242.86% > 230% (43+8HE 230% &)
iy gjgjle = DX(A_B) = 16,100m2

[ AAAE 1] - OOAF
> AA F498F 105,928,
% 71NN W H 0 26,025m(F FFAAT 26,025m £
= A=105928, B=26,025, C=26,025, =% 2 (A-B)=79,903
w B/A = 2457% > 20% => #9H2] A&
w (B-C)/A = 0% < 20% => [3]4] 24
w D = 200% x [ 1+ 1.5% (26,025-105,928+20%)/(105,928-26,025) |
= 218.17%

[ AAAE 2] - OOAF
> AA FHEF 242,358,
% 71WAA W H 0 62,751m(F FFAAT 59,744m £
= A=242,358, B=62,751, C=59,744, =¥ A (A-B)=179,607
w B/A = 2580% > 20% => #TH2] A&
w (B-C)/A = 1.24% < 20% => [3]4] A&
w D = 200% x [ 1+ 1.5% (62,751-242,358%20%)/(242,358-59,744) |
= 223.46%

[ AAAE 3] - OOAF
> AA FH9EH 112,710,
71NN A WA ¢ 40,266m (5 FEFAAT 38,144m EF)
= A=112,710, B=40,266, C=38,144, =% A (A-B)=72,444
w B/A = 35.73% > 20% => 2] A&
w (B-C)/A = 1.88% < 20% => [3]4] A&
w D = 200% x [ 1+ 1.5% (40,266-112,710%20%)/(112,710-38,144) ]
= 271.31% > 230% (F&#E&4E 230% 2 &)
= QIR A E : 200%, AT 1 200%

- 15 - (+ 2)
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M3ZLHFHRH2=29| T &etol A

ZIREAI A FE 7] E 0] 20% W ROl 7%
@ AA F994 :10,000m, F 71WkAE HF : 1,000m
= A=10,000, B=1,000, %2 (A-B)=9,000
m B/A = 10% < 20% => [1]4] A&
w D = 220% - 2.75 x (20% - 10%) = 192.5%
w AW 2 = Dx(A-B) = 17,325m’

@ AA F9AF 10,000, F 71HAAE HF :1500m
= A=10,000, B=1,500, th#% 4 (A-B)=8500
w B/A = 15% < 20% => [1]4] 2 &
mw D = 220% - 275 x (20% - 15%) = 206.25%
w AHZ = Dx(A-B) = 17,531m’

7RI A R 7] E 0] 25%Q ¥

@© HA 4994 10,000,

T 719N HAH 0 2500m (T FEAIES 200m EFH)
= A=10,000, B=2,500, C=200, =¥ % (A-B)=7,500

w B/A = 25% > 20% => #[2] A&

w (B-C)/A = 23% > 20% => [2]4] A&

w D = 220% x [ 1 + 1.5%200/(10,000-200) 1 = 226.73%
w AHA = Dx(A-B) = 17,005m’

@ AA 7944 : 10,000m’,
Z 7|AEd HA  2500m (F FEAIET 500m EEH)
= A=10,000, B=2,500, C=500, tH#¥%(A-B)=7,500
w B/A = 25% > 20% => (2] A&
w (B-C)/A = 20% = 20% => [3]2] A&

w D =220 x [ 1 + 1.5%(2,500-10,000%20%)/(10,000-500) ] =

s (?j‘jdz‘} = DX<A_B) = 17,803m2
® A4 FARA 1 10,000m,

(5 2) - 16 -
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=

T 71 AAE HE 0 2500m (F FEAIAET 2,600m E39)

= A=10,000, B=2,500, C=2,500, th#]H % (A-B)=7,500

w B/A = 25% > 20% => #H[2] A&

m (B-C)/A = 0% < 20% => [3]4] A&

w D= 220 x [ 1 + 1.5%(2,500-10,000%20%)/(10,000-2,500) 1 = 242.00%
w AH A = Dx(A-B) = 18,150m’

ZIMAI A g R 7| Fo] 30% % A5
@ AA F944 : 10,000nt,
Z 7]H9kAId WA 3,000m (FEAIA S 9l A
= A=10,000, B=3,000, C=0, =2 (A-B)=7,000
m B/A = 30% > 20% => #HH2] &
w (B-C)/A = 30% > 20% => [2]2] #&
w D =220 x [ 1 + 1.5%0/(10,000-0) ] = 220.00%
m AHA = Dx(A-B) = 15400m’

@ HA F9H3 10,000,
T 71 AE HH o 3,000m (F FE AT 1,000m 39
= A=10,000, B=3,000, C=1,000, th=]%H % (A-B)=7,000
w B/A = 30% > 20% => #IH[2] A&
w (B-C)/A = 20% = 20% => [3]4] A&
w D= 220% x [ 1 + 1.5x(3,000-10,000%20%)/(10,000-1,000) ]
= 256.67% > 250% (7382 & 250% 4 -&)
w AHA = Dx(A-B) = 17,500m’

@ AA F4944 : 10,000nt,
Z 7I9kAAd WA 3,000 (F FFAALT 3,000m EFH)
= A=10,000, B=3,000, C=3,000, th*% = (A-B)=7,000
m B/A = 30% > 20% => #H2] &
w (B-C)/A = 0% < 20% => [3]4] A&
m D = 220% x [ 1 + 1.5x(3,000-10,000%20%)/(10,000-3,000) ]
= 267.14% > 250% (B e&H & 250% A £&)
wm AHA = Dx(A-B) = 17,500m’

- 17 - (F 2)



